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1) Wemple Wheeler, age 23, is a stay at home frisbee golf dad.   His wife, Depressed, age 63, earns $30,000 per year as a coal miner.  They have two children, Write Off, age 20, and Exemption, age 20.  Both children are claimed as dependents although neither attend college.  The Wheelers only itemized deductions is home mortgage interest of $10,000.  They have no child care expenses.  What is the amount of federal income tax the Wheelers will pay in 2009?

a) 35
b) 400
c) 1,175

d) 1,860

e) 3,000

2) On May 3, 2010, Marvin Moser exercised 1,000 ISOs granted by his employer, Chucktown Chops. The options were granted at a price of $40 per share on May 19, 2004.  Moser borrowed $10,000 to exercise the options.  At the time the options were exercised Chucktown Chop’s stock was trading at $60 per share.   What is the amount of ordinary taxable income in 2010 from exercising the options?

a) 0
b) 10,000
c) 20,000

d) 40,000

e) 60,000

3) What is the amount of alternative minimum taxable income in 2010 for Moser from exercising the options?

a) 0

b) 10,000

c) 20,000

d) 40,000

e) 60,000

4) On April 1, 2011, Moser sold the 1,000 shares for $90,000.   What is the amount of taxable income in 2011 from selling the stock? 

a) 30,000 of long-term capital gain

b) 50,000 of ordinary income

c) 50,000 of long-term capital gain

d) 30,000 of ordinary income

5) What is the amount of alternative minimum taxable income in 2011 for Moser from selling the Chucktown Chops stock?

a) 0

b) 20,000

c) 30,000
d) 50,000
e) 60,000

6) The main reason taxpayers bring their case to the Tax Court is that:

a) taxpayers can be awarded attorney costs if they win

b) taxpayers do not have to pay their tax deficiency first

c) taxpayers can file their petitions to the court as late as one year after receiving an IRS deficiency notice

d) the Tax Court is not bound by any circuit courts of appeals’ decisions

7) Tax legislation originates:

a) in the House Ways and Means committee

b) in the Senate Finance committee

c) in the House Taxation committee
d) with the President

8) Why would a married individual use the Married Filing Separate filing status?
a) to pay Alternative Minimum Tax instead of regular tax

b) to extend the time for payment of the individual’s income taxes

c) to avoid joint liability for their spouse’s income tax liability

d) to increase their standard deduction

9) Contributions to the following reduce an indiviual’s adjusted gross income?

a) Traditional IRA

b) Roth IRA

c) Both a) and b)

d) Neither a) or b)

10) Brittany Tears married Anvil Moser on January 3, 2009.  The Moser were divorced on July 4, 2009.  Ms. Tears married Morkus Moomaw on July 7, 2009.  The Moomaws were divorced July 12, 2009.  On August 21, 2009 Ms. Tears gave birth to a baby boy, B. Zo.  On October 31, 2009 she remarried Anvil Moser.  On January 2, 2010 they divorced again.  On January 3, 2010 Ms. Tears married Marvin McFarland.  Assuming B. Zo resides with Ms. Tears during all of 2009 after his birth, what is Ms. Tears filing status for 2009?

a) married filing joint

b) head of household

c) married filing separate

d) single   
11) Malice Moser filed her 2009 federal income tax return on April 15, 2010.  She indicated her income was $32,897.  Her actual income was $32,956.  On what date can the IRS no longer assess any additional tax?

a) December 31, 2011
b) January 1, 2010

c) April 15, 2010
d) April 15, 2011 

e) April 15, 2014
12) Malice Moser needs a haircut.  Marvin Moomaw needs a tree removed with a bulldozer.  Moomaw agrees to cut Moserl’s hair for a year and Moomaw agrees to remove the tree. 

a) Moomaw has income

b) Moser has income

c) both a) and b)

d) neither a) and b)

13) Marod Moser purchased 100 shares of Infail for $5,000.  He gave the shares to his neice Millie Moomaw in 2004 when the 100 shares had a value of $9,000.  Ms. Moomaw was fatally injured by a meteorite in 2005 when the stock had a value of $11,000.  Her husband, Muppet Moomaw, inherited the stock after Millie’s death.  He sold the stock in 2010 for $12,000.  What is the amount of capital gain Mr. Moomaw will report in 2010?
a) 0

b) 1,000

c) 3,000

d) 7,000

14) Which of the following items is included in taxable income?

a) $500,000 of life insurance proceeds recevied by Malice Moser as a result of the death of her husband
b) $1,200 interest received from Treasury bonds
c) disability income received by Sarvin Shields after he broke his leg playing hop scotch.  Mr. Shields had purchased the policy.

d) damages received by Malt Moser from Ford after a robot on the assembly line welded her left arm to her nose

15) Which of the following items is included in taxable income?

a) the value of airline tickets for otherwise vacant seats provided to airline employees
b) $26,000 from a life insurance policy purchased by the insured
c) the sale of a personal residence lived in by a married couple for 10 years.  The residence was purchased for $76,000 and sold for $434,000.

d) $350 of dividends reinvested in additonal shares of a mutal fund

16) Which of the following is not an item which is subtracted in calculating adjusted gross income?
a) $2,200 of health insurance premiums paid by a self-employed individual

b) $1,200 student loan interest paid by single individual with income of $23,000

c) $86,200 of alimony paid to a charming ex-spouse

d) stock valued at $32,000 contributed to Eastern Illinois University

17) Mawi Moomaw received $40 of interest income from a bond issued by the city of Los Angeles.  For federal incoime tax purposes, Ms. Moomaw has a 25% marginal tax rate.  She is a resident of the state of Illinois which has a three percent income tax rate.  To receive the same amount of after-tax income from a corporate bond the yield on the bond must be:

a) 1.3%

b) 4%

c) 5.3%

d) 6%

e) 16%

18) Which of the following is refundable?
a) Hope credit
b) adoption credit

c) earned income credit

d) lifetime learning credit

19) Which of the following is not included in itemized deductions?

a) Charitable contributions

b) State income taxes

c) Self-employed health insurance

d) Property taxes

e) Interest on home equity loans

20) Mancel Moser purchased 500 shares of Bear Burns for $26,000 in 2002.  In 2010 he sold the shares for $4,000.  What is the amount of the capital loss Mr. Moser can deduct on his federal income tax return as a result of this sales in 2010?

a) 0

b) 3,000

c) 4,000

d) 22,000

e) 26,000

21) Mardvark and Maltimeter Moser have three children, Brat, age 18, Relish, age 17, and Mustard, age 3.  Their AGI is $132,200 in 2010.  What is the amount of child tax credit they can claim in 2010?
a) 0

b) 850

c) 1,150

d) 2,150
e) 3,000

22) The maximum percentage of Social Security benefits which is included in taxable income is:

a) 0%

b) 15%

c) 50%

d) 85%

e) 100%

23) Moretta and Meroy Moomaw have two children, MeSpawn, age three and Me Spud, age 10.  Moretta earned $8,000 delivering newspapers during 2010 and Meroy made $792,000 baking cakes.  They paid Moretta’s mother, MeWitch, $7,000 to take care of MeSpawn during 2010.  What is the amount of Dependent Care credit the couple can claim in 2009?

a) $0
b) 1,200
c) 1,400
d) 1,600
e) 2,000
24) What is the maximum amount an individual under the age of 50 can contribute to a Roth IRA to 2010?

a) 2,000

b) 3,000

c) 5,000

d) 6,000

25) Mally and Mamp Moser have taxable income of $150,000 in 2010.  What is the amount of Federal income tax they will pay in 2010?
a) 6,020
b) 18,550
c) 24,973
d) 30,993
e) 42,000

26) What is the marginal income tax rate for the Mosers in 2010?

a) 15%

b) 20.6%

c) 28%

d) 33%

e) None of the above
27) The first estimated tax payment of Federal income taxes for 2010 is due:

a) January 1, 2010
b) January 15, 2010
c) April 15, 2010
d) January 15, 2011
e) April 15, 2011
28) Which of the following is not a reason to transfer assets to a trust?

a) reduce Federal income taxes

b) remove assets from probate estate

c) provide management for assets for the benefit of minors

d) protect assets from creditors

29) Which of the following must use the accrual basis of accounting?
a) Al Moser, a dentist

b) Moser Anvils, manufacturers of goose anvils
c) Alt Moser, a watermelon farmer

d) Ack Moser, a plumber

30) NOLs of individuals

a) can be carried back to the two prior years to reduce income taxes previously paid in those years

b) can be carried forward to the next twenty years to reduce income taxes paid in those years

c) both a) and b)

d) neither a) or b)

31) In partnerships:

a) limited partners can not participate in the management 

b) mutual agency limits the liability of general partners to the amount they originally invested 

c) both a) and b)

d) neither a) or b)

32) Dr. Mabeq Moser invested $80,000 in an alpaca farm in 2009.  During 2009, the alpaca farm has a loss of $90,000 due to coyotes devouring the alpacas.  In 2010, the farm has a loss of $18,000.  If all of the work at the alpaca farm is done by Moser, what is the amount of loss Moser can deduct in 2010?

a)  0
b) 15,000

c) 18,000

d) 108,000

33) Which of the following losses is not subject to the passive activity loss rules?

a) Arl Moser has an $8,000 loss from a broccoli farm in Macon County, Illinois.  Arl works 330 hours per year at the farm.  Her brother Anky works 340 hours at the farm.  Her AGI is $23,000 before the loss.
b) Aob Moser has a $14,000 loss from a prairie chicken farm in Jasper County, Illinois.  Aob works 480 hours per year at the farm and his brother Aump works 895 hours at the farm.

c) Aby Ace Moser has a $27,000 loss from an apartment building in Charleston, Illinois.  She works 650 hours per year managing the building. Her AGI is $370,000 before the loss.
d) Am Moser has a $4,000 loss from his law practice.  Am works 95 hours per year as an attorney.

34) Amg and Alli Moser have the following items of income for 2010:

· $310,000 of salary for Alli from Springfield Spark Plugs

· $8,000 income from a watermelon farm in Macon County, Illinois.  Amg works 30 hours per year at the farm.  No one else works at the farm.

· $14,000 loss from a prairie chicken farm in Jasper County, Illinois.  Amg works 580 hours per year at the farm and his brother Akli works 895 hours at the farm.

· $15,000 loss from a buffalo farm in Morgan County, Illinois.  Amg works 20 hours per year at the farm and his cousin Ajko works 290 hours at the farm.
What is the Amg’ AGI for 2010?
a) 289,000

b) 304,000

c) 318,000

d) 325,000

e) 333,000

35) Atis and Aleo Moser have AGI of $110,000 before a $22,000 loss from an apartment building in Charleston, Illinois.  Aleo works 650 hours per year mowing the lawn at the building and showing the apartments to prospective tenants.  What is the amount of the loss for the apartment buidling the Moser can deduct in 2010?
a) 0

b) 5,000
c) 20,000
d) 22,000
e) 25,000

36) Which of the following statements is false?

a) Losses from passive activities can only be used to offset passive activity income

b) Losses from passive activities can be used to reduce income from dividends 

c) Passive losses can be carried forward to future years

d) Passive losses not previously allowed can be deducted in the year the passive activity is sold

37) Which of the following can be deducted in calculating Alternative Minimum Taxable Income?

a) Charitable contributions

b) Property taxes

c) Personal exemptions

d) Standard deduction

38) To reduce alternative minimum tax

a) ISOs should be exercised just before they expire

b) ISOs should be exercised when the stock has increased substantially in price
c) ISOs should be exercised all in the same year

d) a portion of the ISOs should be exercised each year

39) Exercising NQSOs increases
a) ordinary income tax

b) Medicare taxes

c) both a) and b)

d) neither a) or b)

40) Which of the following is a deductible charitable contribution for the current year?
a) a car valued at $38,000 given to an impoverished finance professor

b) t-shirts with grease stains on them valued at $4 donated to goodwill

c) a raffle ticket sold by the girl scouts which gives the purchaser the chance to win an elephant

d) a $500 contribution to Eastern Illinois University which has paid for using a Visa credit card and the Visa bill was paid in the following year

41) Adith Moser purchased 100 shares of Google stock for $5,000 on July 27, 2005.  On May 30, 2010 she contributed the stock, now valued at $30,000 to Eastern Illinois University.  Her AGI in 2010 was $50,000.  What is the amount of Moser allowable charitable contribution as a result of the gift of the stock?

a)  0

b) 5,000

c) 15,000

d) 25,000

e) 30,000

42) Arvin Moser purchased a new combine (seven-year property) for $50,000.  It was the only equipment he purchased during the year.  His income from farming prior to depreciation of the combine was $100,000.  What is the maximum amount of Section 179 expense he can claim for the combine in 2010?

a) 0
b) 10,000
c) 14,290

d) 50,000

e) 100,000

43) Aqwerty Moser purchased a new honey wagon (seven-year property) for $60,000 in 1998.  Ms. Moser sold her honey wagon to Mucgfed Moomaw for $70,000 on December 15, 2010.  If Ms. Moser marginal tax rates are 25% for ordinary income and 15% for capital gains, what is the amount on federal income tax Ms. Moser will pay as a result of this sale in 2010?

a) 0
b) 9,000
c) 16,500
d) 17,500
44) Ally Moser purchased a honey wagon (seven-year property) for $100,000 on January 31, 2010.  It is the only equipment she purchased during the year.  What is the amount of depreciation she can claim in 2010 if her income from farming prior to depreciation was $7,000?

a) 7,000

b) 14,290

c) 20,990

d) 24,490

45) Ally Moser purchased a honey wagon (seven-year property) for $100,000 on January 31, 2010.  It is the only equipment she purchased during the year.  What is the amount of depreciation she can claim in 2011 if her income from farming prior to depreciation was $11,000 in 2011?

a) 11,000

b) 14,290

c) 20,990

d) 24,490
46) Ally Moser purchased a honey wagon (seven-year property) for $100,000 on January 31, 2010.  It is the only equipment she purchased during the year.  What is the amount of depreciation she can claim in 2010 if her income from farming prior to depreciation was $13,000 in 2010 and she sold the honey wagon for $7,000 on January 3, 2010?

a) 8,745

b) 12,490

c) 13,000

d) 14,290

e) 17,490
47) Meulah Moomaw owns all of the stock of Moomaw Mics, an S corporation.  During 2010, the company had a loss of $31,000 and it made a distribution of $3,000 to the owner.  What is the amount of loss Mr. Moomaw can include on his Form 1040 if he had basis of $14,000 in the company’s stock at the start of 2010 and he made a loan of $20,000 to the business during the year?

a) 11,000

b) 14,000

c) 21,000

d) 24,000

e) 31,000

48) For purposes of determining who must file an income tax return, the dollar requirements apply to:

a) gross income

b) adjusted gross income

c) taxable income

d) net income

49) Which of the following is included in the gross income of Mabell Moomaw?

a) $987,000 inherited from her grandmother

b) $96,000 prize from winning seond place on Dancing with the Plumbers

c) $13,000 life insurance benefits received after the death of her husband Marvin

d) $980 of municipal bond interest received from the state of Utah

50) Which of the following type of regulations represents primary authority?

a) proposed

b) temporary

c) interpretive

d) legislative

51) A taxpayer who is unsure of the tax treatment by the Internal Revenue Service for a transation involving a substantial amount of money may request a:

a) revenue procedure

b) technical advice memorandum

c) revenue ruling

d) private letter ruling

52) Atilla Moser’ shusband Aseb was fatally injured by a wayward elephant at circus on December 24, 2009.  The Moser have a two-year old son, Aseb, Jr.  Atilla qualifies for married filing joint status for:

a) 2009, 2010, and 2011
b) 2009
c) 2009, 2010
d) she must file as head of household for all years

53) Amp Moser, waiter, received $60,000 in tips during 2009.  Since the tips were paid in cash to Mr. Moser, he accidentally forgot to file an income tax return for 2009 as this was his only source of income.  When will the statute of limitations for the Internal Revenue Service to audit Mr. Moser for the 2009 tax year end?

a) December 31, 2010

b) April 15, 2011

c) December 31, 2013

d) April 15, 2014

e) never

54) Investment income includes all of the following except:

a) interest

b) alimony

c) dividends

d) royalties

55) Tax legislation originates in the House Ways and Means committee and then the legislation goes to:

a) the Senate Conference committee

b) the Senate Finance committee

c) the House Taxation committee

d) the President

56) Municipal bond interest income may:
a) increase alternative minimum tax

b) increase the amount of taxable social security benefits

c) both a) and b)

d) neither a) or b)

57) An individual is taxed on income that is made available to him (credited, set apart, or otherwise made available) even though it may not actually be in his possession. This is called:

a) economic benefit rule

b) imputed income

c) doctrine of constructive receipt

d) claim of right theory

58) Which of the following is not an above-the-line deduction?

a) adoption expenses of up to $11,390

b) self-employed health insurance

c) education expenses of up to $4,000

d) student loan interest of up to $2,500

59) Which of the following credits is refundable?

a) adoption credit

b) earned income credit

c) energy credit

d) American Opportunity education credit

60) The amount of foreign tax credit:

a) is limited to the amount of U.S. income tax on the foreign income

b) can be carried back five years

c) both a) and b)

d) neither a) or b)

61) Estimated tax payments:

a) are required if the taxpayer has income of $500 not subject to withholding

b) must equal 125% of the taxpayer’s prior year tax 

c) both a) and b)

d) neither a) or b)

62) Self-employment tax:  

a) must be paid if self-employment income exceeds $400

b) is 15.3% of self-employment income up to $106,800 in 2010
c) both a) and b)

d) neither a) or b)

63) Assets placed in an IDIT:

a) are removed from the transferor’s probate estate 

b) transfers the income tax liability for the income from trust assets to the trust if the income is not distributed

c) both a) and b)

d) neither a) or b)

64) What type of trust can accumulate trust income and make charitable contributions?

a) complex

b) simple

c) accumulation 

d) complete

65) Which of the following assets included in a decedent’s estate would create IRD?

a) $56,000 in a 401(k) plan

b) $437,000 in life insurance proceeds

c) a $320,000 home owned entirely by the decedent

d) $791,000 of IBM stock owned by the decedent

66) Mutual agency:
a) creates liability for the general partners for the acts of other partners related to the business

b) creates unlimited liability for limited partners
c) requires distributions from a grantor trust

d) is required to form an LLC

67) Which of the following statements about S corporations is false?

a) all corporations with one shareholder are automatically considered to be S corporations

b) the corporation can only have one class of stock

c) the corporation must have less than 100 shareholders

d) generally there is no corporate income tax on S corporations

68) C corporations
a) have capital gains taxed at ordinary income rates

b) can deduct up to $3,000 of capital losses each year

c) both a) and b)

d) neither a) or b)

69) LLCs can:
a) be taxed as a partnership or C corporation

b) have a corporation as a shareholder

c) both a) and b)

d) neither a) or b)

70) Which of the following statements is true regarding the calculation of income tax liability?

a) the greater of the standard deduction or itemized deductions is subtracted from gross income to arrive at adjusted gross income

b) credits reduce income taxes by the amount of the credits
c) the lesser of the standard deduction or itemized deductions is subtracted from adjusted gross income to arrive at taxable income

d) once taxable income is determined, personal and dependent exemptions are subtracted to determine alternative minimum taxable income
71) Which of the following statements concerning a grantor trust are true?

a) grantor trusts can reduce the cost, delay and publicity of probate

b) income from a grantor trust is taxed to the grantor

c) grantor trusts avoid estate tax

d) grantor trusts incur gift tax

a. (a) only

b. (a) and (b) only

c. (b) and (c) only

d. (d) only

72) Which of the following statements about a simple trust is true?

a) it permits charitable contributions

b) it permits distribution of corpus

c) it distributes all trust income annually

d) the trustee has discretion whether to accumulate or distribute trust income

73) Which of the following is not generally a requirement for a corporation?

a) formal elections of directors

b) the corporation must have physical offices in the state where incorporated

c) filing the corporation’s legal name, purpose, and name and address of an agent for the corporation

d) records must be kept of minutes of shareholder meetings and meetings of the board of directors

74) Which of the following may be depreciated:

a) land

b) inventory

c) improvements to land

d) accounts receivables

75) Which of the following statements about basis for purposes of cost recovery is not true:

a) initial basis of property is generally the cost of the property

b) the cost of the property is reduced by Section 179 expensing 

c) basis must be reduced each year by the amount of depreciation that is allowable

d) basis is increased if repairs are completed on the property
76) Which of the following statements about Section 179 expensing is not correct?

a) a taxpayer may elect to treat the cost of certain property as an expense in the year the property is placed into service

b) the property must be personal property (not realty)

c) the amount expensed is limited to the aggregate amount of income derived from the active conduct of any trade or business of the taxpayer

d) an amount that is not deductible because it exceeds the aggregate taxable income from any trade or business may not be carried over and taken in a subsequent year

77) Losses from passive activities are deductible in a given year to the extent the passive activity income exceeds such losses and any excess losses not deductible in the current year:

a) are also not deductible in any future year

b) may be carried back three years

c) may be carried forward five years

d) may be carried forward indefinitely

78) The maximum alternative minimum tax rate for individuals is:

a) less than the maximum regular federal income tax rate for individuals

b) equal to maximum regular federal income tax rate for individuals

c) greater than the maximum regular federal income tax rate for individuals

d) going to decrease each year by 1% until it reaches 20% in 2010

79) Which of the following reduces alternative minimum tax income for individuals?

a) Property taxes
b) State income taxes
c) Political contributions
d) Charitable contributions 

80) All of the following can be considered advantages of a sole proprietorship, EXCEPT: 

a)  it never requires formal steps for formation

b)  it always avoids the double taxation that occurs with C Corporations 

c)  it can be taxed as either a limited liability company (LLC) or as a C Corporation

d)  there are no complications regarding management decisions of the division of profits

81) Arry and Acy Moser go to a charity poker run and pay $450 for the tickets. The fair market value of the unlimited carrots and celery they are proved is $185. All proceeds from the event go directly to this qualified charity. They file a joint tax return and are aware that the value of the tickets is LESS THAN what was paid. The allowable charitable contribution on their federal tax return should be:

a) $185

b) $225

c) $265

d) $450

82) Stock options that are currently exercisable are 

a) in-the-money 

b) underwater 

c) grant proof 

d) vested 
83) Aarky Moser lost $30,000 in his boat building sole proprietorship in 2010.  He has no employees and invested $50,000 in the business earlier in 2010 when he opened the business.  Which of the following statements is true?
a) Mr. Moser will be able to deduct the loss on his 2010 income tax return

b) Mr. Moser will only be able to deduct $3,000 of the loss.

c) Mr. Moser will not be able to deduct the loss in 2010 due to the passive activity loss rules.

d) Mr. Moser will be able to carry back the loss to his five prior year tax returns to get a refund of taxes paid previously if the loss provides no benefit in 2010.

84) Which of the following entities generally pay no income tax?

i) Simple trust

ii) S corporation

iii) Partnership

(a) i) only

(b) ii) and iii)

(c) i), ii) and iii)

(d) iii) only

(e) ii) only

85) S corporations:

a) Must have more than 100 shareholders

b) Can not have a corporation as a shareholder

c) Both a) and b)

d) Neither a) or b)

86) Dividends are:

a) Currently taxed at capital gains tax rates for individuals

b) Currently taxed at capital gains tax rates for corporations

c) Both a) and b)

d) Neither a) or b)

87) Losses from passive activities:

a) Can be carried back to the last five year’s tax returns to offset prior year’s passive income
b) Can be used in the year the activity is sold including prior year losses not previously allowed
c) Can be used to offset earned income from wages and salaries

d) Can be used to offset income from investments including dividends and interest income

88) ISOs can only be issued to purchase __________ of common stock each year.

a) $40,000

b) $100,000

c) $1,000,000

d) There is no limit.

89) Delilah and Delbert Dudek, age 34 and 59, made a contribution to Citizens to Prevent Cruelty to Cub Fans of $5,000 in 2010 and paid $1,400 in property taxes on their home during the year.  What is the standard deduction for the Dudeks?
a) $6,400

b) $11,400

c) $12,400

d) $12,800

e) $17,800
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SUPPLEMENTAL INFORMATION
1) Standard Deduction

a) MFJ: $11,400
2) Personal and Dependent Exemptions: $3,650
3) AMT Exemption

a) $69,970 less

b) 25% of AMTI over $150,000
4) Student loan interest
a) $2,500 with MFJ phaseout from $120,000 to $150,000
5) Itemized Deductions

a) Medical expenses above 7.5% of AGI

b) Interest expense

i) Home mortgage if less than $1 million mortgage on purchase

ii) Home equity loan up to $100,000

c) Charitable contributions

i) Public charity: 50% AGI

ii) Capital gain property: 30% AGI

6) Capital gains tax rates:

a) 15% if marginal tax rate is more than 15%

b) 5% if marginal tax rate is 15% or less

7) AMT tax rates:

a) 26% of first $175,000

b) 28% of all amounts over $175,000

8) Phaseouts:

a) Child tax credit

i) MFJ: begins at $110,000 if one child

ii) Phased out by $50 for each $1,000 AGI exceeds threshold

b) Passive loss rental activities

i) $25,000 allowance is phased out if AGI is above $100,000 for MFJ

(1) Can’t take $1 of loss for every $2 AGI > $100,000

	


Schedule Y-1 — Married Filing Jointly or Qualifying Widow(er)

	If taxable income is over--
	But not over--
	The tax is:

	$0
	$15,650
	10% of the amount over $0

	$15,650
	$63,700
	$1,565.00 plus 15% of the amount over 15,650

	$63,700
	$128,500
	$8,772.50 plus 25% of the amount over 63,700

	$128,500
	$195,850
	$24,972.50 plus 28% of the amount over 128,500

	$195,850
	$349,700
	$43,830.50 plus 33% of the amount over 195,850

	$349,700
	no limit
	$94,601.00 plus 35% of the amount over 349,700


 MACRS
Table A-1.  3-, 5-, 7-, 10-, 15-, and 20-Year Property Half-Year Convention

	Year
	Depreciation rate for recovery period

	
	3-year
	5-year
	7-year
	10-year
	15-year
	20-year

	1
	33.33%
	20.00%
	14.29%
	10.00%
	5.00%
	3.750%

	2
	44.45
	32.00
	24.49
	18.00
	9.50
	7.219

	3
	14.81
	19.20
	17.49
	14.40
	8.55
	6.677

	4
	7.41
	11.52
	12.49
	11.52
	7.70
	6.177

	5
	
	11.52
	8.93
	9.22
	6.93
	5.713

	6
	
	5.76
	8.92
	7.37
	6.23
	5.285
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